Saoo uUsa

Face shield kit foam to lens alignment fixture

Part Number: FSA-1

Hardware In the box:
ltem C x4

. ltemAx12
/ \ \P Item # |Description Quantity
\ \ N M4 x 0.7mm, flange nut 12
b B M4 x 0.7mm, 16mm long 4
C M4 x 0.7mm, 20mm long 4
D M4 x 0.7mm, 35mm long 4
E Rubber bumper 4

Tools Required:

e Philips head screw driver
e 7mm wrench

Fixture assembly instructions:

Step 1. Remove protective paper from all plastic parts.

Step 2. Install all screws and nuts as illustrated.

Tip: For level footing, tighten screws for rubber pads
evenly with screws flush with nuts.

ItemE x4

Item D x 4

Cleaning instructions:
e Use isopropyl alcohol with lint free tissue

Contact Information:

SABO USA, INC.

450 S. San Dimas Ave.
San Dimas, CA91773
(909) 599-1224
https://SABOUSA.com



